QUIZ #3: GROUP QUIZ
CSE 326
Data Structures
Autumn, 2003

10/22/2003

1. True/false:


a. log (5n) = O(log (3n))



b. 5n = O(3n)



c. log (n5) = O(log (n3))



d. n5 = O(n3)



e. log (5n) = O(log (3n))


f. 5n = O(3n)




2. Give two reasons why a balanced Binary Search Tree (say an AVL tree) is not the best way to implement Priority Queues.


3. Name 3 reasonably good implementations of Priority Queues, with one characteristic of each that makes it better than the other two.


4. Do the same as in the above problem, but now for balanced Search Trees.

5. True/false:   The Dictionary ADT can be easily implemented once one knows how to
                    implement the Search ADT (recall beginning of search tree lectures!).


6. True/false:  The course policy states that you have one free late day for the quarter
                   that you can use for one of your projects if you notify us in advance.




7. What priority function, if any, will make a Priority Queue behave like a normal Queue?  Assume entries with the same priority are processed in the order received.





What priority function, if any, will make a Priority Queue behave like a Stack?
(hint: think of a priority function that depends on when the element is inserted)


8. Can breadth-first search (BFS) on a graph be implemented using a Priority Queue? (hint: you just answered this above!)





Can depth-first search (DFS) on a graph be implemented using a Priority Queue? (hint: you just answered this above!)
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